
 

 

A. Choose the correct answer: 

1. ₹1 is equal to how many paise? 

 a) 10    b) 50 

 c) 60    d) 100 

2. 250 paise is equal to how many rupees? 

 a) ₹2.50   b) ₹25 

 c) ₹5    d) ₹1.50 

3. Which of the following is correct? 

 a) ₹3.75 = 375 paise  b) ₹3.75 = 37.5 paise 

 c) ₹3.75 = 735 paise  d) ₹3.75 = 30.75 paise 

4. Convert 400 paise into rupees 

 a) ₹2    b) ₹4 

 c) ₹40    d) ₹8 

5. Which of the following equals ₹6.50? 

 a) 50 paise   b) ₹6 and 50 paise 

 c) ₹5.50   d) 650 rupees 

B. Write the Missing Terms to Complete the Sentences: 

1. ₹2.75 = ______ paise 

2. 150 paise = ₹______ 

3. ₹6.00 = ______ paise 

4. 90 paise = ₹______ 

5. ₹10.50 = ______ paise 

C. Mark each sentence with a True (✔) or False (✘): 

1. 100 paise = ₹1  ______ 

2. ₹8.25 = 825 paise ______ 

3. 50 paise = ₹0.50 ______ 
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4. ₹4.10 = 41 paise ______ 

5. ₹5 = 500 paise  ______ 

D. Figure out the answers to these questions: 

1. Convert 325 paise into rupees. 

2. Write ₹4 1/2 in decimal form and convert to paise. 

3. A pencil costs 75 paise. What is the cost of 4 pencils in rupees? 

4. Convert ₹9.60 into paise and add ₹2.40. Write the total in rupees. 

5. Convert the following to rupees and add: 250 paise + 150 paise + ₹3. 

E. Challenge yourself with these questions: 

1. Convert ₹7 1/2 into paise. 

2. How many rupees are there in 475 paise? 

3. If you have ₹3.20 and 80 paise, what is the total amount in rupees? 

4. A packet of biscuits costs 1 1/4 rupees. How many paise is that? 

5. Add ₹2.35, ₹5.40 and 125 paise and give the total in rupees. 
  


